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PAPER I

(GENERAL)

1. From the following list of methods of teaching
used in institutions of higher learning, identify those
which are learner-centred :

(i) Project Work

(i1) Chalk and Talk
(iii) Lecturing with audio-visual
(iv) Computer-aided instruction
(v) Simulation and Role Playing
Choose the correct option.

Codes:

(A) (D), (iiD), (iv)

B) @), v), (v)

(©) (), (i), (iii)

(D) (iib), (iv), (v)

2. ‘International Standard Book Number’ (ISBN)
isa_____ digit unique numeric commercial
machine-readable identification number meant for
publication of books and book like products.

(A) eight
(B) ten
(C) eleven
(D) thirteen

3. A narrative literature review best refers to

(A) gathering, critiquing and summarising
Journal articles and text books on a
particular topic potentially to identify gaps
in the literature.

(B) a paraphrase style of reviewing which
does not require referencing.

(C) an initial impression of the topic which
you will understand more fully as you
conduct your research.

(D) the earliest literature is not narrated with
full details.

4. Avideoconference between Susmitain Mumbai,
Radhakanta in London, Barun in Guwahati, Jayanti in
Singapore, Sudhansu in Tezpur, Purakayastha in
Kolkata and Sunil in Bhubaneswar is what type of
communication?

(A) Mass Communication
(B) Group Communication
(C) Group Mediated Communication
(D) Public Communication

1. Twim afevie gz MaflRie e safeq
Sifeeia S (@Fime it
(i) =5 I
(ii) B T 5F
(iii) -2y fefes agel
(iv) SuEHEHR e FomE
(v) SEel @ gl At
Ao el o e
a@ :
(A) (1), (iii), (iv)
(B) (1), (iv), (v)
(C) (@), (ib), (iii)
(D) (iii), (iv), (v)
2. THIGUHA IS 95 %9 (ISBN) 20%
RS [xR AP Afdfers @i =
e RN SR LR (g Ay el
T
(A) =1
(B) W
(C) @sica
(D) ol

3. SN A s=arwe (Literature Review)
-3 Af5F G 2o —
(A) @ s fine aw Al aea
Sprspefel feesaer o aiadie@ ¢
AT FR2IZ, TN € AR |
(B) 7-arweeR @I <l @A S[afmwesd
el (2 |
(C) TG @ (G A= «izell 3l == sieRel
PSSP AT S8 I 0 JAEH |
(D) #F fa=aflt Rgweia i 1 z3f |

4. R (A AL, TS (A NG, ST (AT
T, PR (AF TR, (SEHT (A RS, Ferrrel
(A TP GR TICT (AT FANeT— G0 & I
ffGe ST 27 O IHICE F GOl RS FeT] Z( 2

(A) 911Gl (Mass Communication)
(B) V@i ALl (Group Communication)
(C) well Wargs! @ (Group Mediated
Communication)
(D) &«=1e@tel (Public Communication)
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5. APA format is a writing style guide and format
produced by the
(A) American Psychological Association
(B) American Psychiatry Association
(C) American Psychological Assembly
(D) Annual Psychological Assembly

6. Constructivism in classroom is

(A) teacher focused
(B) student focused
(C) activities focused
(D) questions focused

7. _ type of evaluation is used for

monitoring the learning process of students.

(A) Summative
(B) Formative
(C) Diagnostic
(D) Assimilative

8. is an innovative tool that enables
teachers to take students on immersive virtual journeys
and field trips to various destinations.

(A) Google Classroom

(B) Google Expedition

(C) Google Virtual Tours

(D) MS Classroom Expeditions

9. is an instructional strategy and a type
of blended learning, which requires pupils complete
readings at home and work on live problem solving
during class time.

(A) Virtual classroom
(B) Google classroom
(C) Flipped classroom
(D) Hybrid classroom

10. For most classroom purposes, which among the
following is the best suited for social skills assessment?
(A) Checklist
(B) Rating Scale
(C) Numerical Scale
(D) Rubrics

74

5. «. fo. @ 9P (APA format) 2052 @35 foree
AwfS A [ FEcR G3R AR
(A) SRR AR SR
(B) Sz A2l St
(C) NI ARG SO
(D) SUIFIE ARCHIGI STl

6. FPREE FTGFOIGE I FHITLAF IISTF 2SI
3efel T @ SAET—

(A) @ PP racsfas

(B) @ FM Bia-aas

(C) @ FM FeF @S a SHFHieh (T
(D) @ F 2

7. 2@ (12 YEINEE & T A
e e e SaEe s o)

(A) RS IJETR
(B) 913w91S eI
(C) faefizss etz

(D) FELAT TR

8. 25 @30 TR T Al RS
AR I DG-RAGE (@ @Pfos Tiar i Sipae
TS W3R CFg A A e Goi-aa wifserst s |

(A) @ofet R

(B) @91 GIICoATG

(C) &1 IR G

(D) @3 @31 FIAFT GHCATEI

9. fmffee @ o o et a9 aw
fiifers Al @ros safore Asasiid Fie Z7 Aits et
5J& SR A1 o) T 9 FP AR 7S FRTF®
A APTIF TN S FCF 2

(A) SIFTH FHRFS
(B) ws(El FPREN
(C) firole e
(D) 2T Fowe

10. FRES A1 el Soaees e wewel T
frsferfie @i st oifas azeieg e
(A) BFFETS
(B) @M &1
(C) eI cZet
(D) FE




11. Ifthereis linear trend present in the population,
then which of the following methods is the most
efficient sampling technique?

(A) Cluster Sampling

(B) Systematic Sampling

(C) Stratified Sampling

(D) Simple Random Sampling

12. Match items of List-I with the items of
List-1l and indicate your answer by selecting the correct
code.

List-1 List-11
(Event) (Month/Year of occurrence)

(a) The ‘Earth Summit’ in (i) September, 2000
Rio de Janeiro, Brazil,
where more than 178
countries adopted
Agenda 21

Millennium Summit at
UN Headquarters in
New York led to the
elaboration of eight
millennium development

(b) (i) June, 2012

goals to reduce extreme
poverty by 2015

(c) United Nations (i11) June, 1992
Conference on Sustainable

Development (Rio + 20) in

Rio de Janeiro, Brazil

where number of states

adopted the outcome

document “The Future we

want”

UN Sustainable
Development Summit
where 2030 Agenda for
Sustainable Development
with 17 SDGs at its core
were adopted

(d) (iv) September,2015

Codes:

@ b (© (@
(A (@ @) (v) (i)
B) Gi) aGi) @ Gv)
©) @) (@ a) (v)
(D) @Gv) G @) @)
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11, T I GBI AL W0 G (720 A
O (I 2w MO Y7 AT (1R TadicE
FRAISTCSIE e T A8 2

(A) FPOE A=ifere

(B) PO sieifek

(C) FibwEe =l

(D) Frsie] peres F=ifere

12. Ol 932 OfFm-II-93 @ SGasl a@e

ST AT (Wl GR AT (e Wb
el |

el ©Iferm-II

(g541) (IO )

(a) fae f© feafae, s =G,

Fifere @t 178 m=
& Sritere! 21 276 FE |

(b) AFeYrEa Ffm ARG,
02 @A G
Rt sFwral 92e
2T A0S 2015-97 T
wifswy 7 21 AR |

(c) ATejre I (Re+20) (iii) o, 1992
71 fae & famfiers safoe
=3, @A S (o e
“@ SfEre SNl 5 JINE
G GG 270 U |

(d) AFEG APTHIEIA
(STSHHATTS ARG @A
2030-43 AHIEE
(ST SISl Al 07!
17 SDGs 93 SI% 3 &5

(i) GI#H%4, 2000

(i) =, 2012

(iv) @694, 2015

&= a1 23|
ﬂc? :
@ (b)) (© (@
(A () G (Gv) (i)
B) @) @) @@ @)
© Gy @  G) Gv)
(D) (@v) (@) (i) (@)
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13.

14.

15.

16.

The most significant approach of evaluation is
(A) continuous and comprehensive evaluation
objective

(B) conducting term-end

examination
(C) maintaining cumulativerecords of students
(D) semester system evaluation

Find the worng number in the series :
2,3,5,7,12,17, 19

(A) 2

B) 5

©) 12

D) 19

Statements (a) All branches are flowers
(b) All flowers are trees

Conclusions : (1) All branches are trees
(i1) All trees are branches
(iii)) All flowers are branches
(iv) Some trees are branches

Codes:

(A) Only (i) and (iii) follows
(B) Only (i) and (ii) follows
(C) Only (i) and (iv) follows
(D) Only (i) follows

A, B and C invested capitals in the ratio3:5: 9,

the timing of their investments being in the ratio2 : 3 : 1.
In what ratio would their profits be distributed?

(A) 2:5:3
B) 3:2:5
(C) 7:5:3
D) 3:5:2

17. What is 20% of 30% of 40% of 50%?

(A) 12%
(B) 24%
(C) 2-4%
(D) 12%

7-6

13. IR AbIRCe S Al 25

(A) RIS (FALHEIR) @R [ES JETRe
(B) tdife= atxa A1 O « #1 Sl simfs
(C) Bawa »Rfi7 fofes 7o) ¢ A1l

(D) GRS simfore JEnize <1

14. FEEIRS AR wel FA Srard 90 |

15.

16.
SRS @0 | (TR R SR @3 RfieiG wae o
NS @ TE 2 3 1| CTewGg sird @2 R[Rfdaiess
e (P SIS SegaE 20 ?

2,3,5,7,12,17, 19

(A) 2

(B) 5

(€) 12

(D) 19

f3fe (a) TIE #1243 257 o
(b) T FiZ T 5Ig

Ch (1) 7T #1213 sig
(ii) T SRR i<
(iii) T T2 #I12lf
(iv) Tz iz 2 i<

P :

(A) ©Y (i) 93 (iii) LT
(B) 8¢ (i) 93 (ii) LZec9y
(C) By (i) @R (iv) J=eclaly
(D) ©y9 (i) A=A

A, B @ C g 5l [RifT@iel a1 3:5: 9 @2

(A) 2:5:3
B) 3:2:5
(C) 7:5:3
(D) 3:5:2

17. 50 *[SIIF 40 *[SI S (373 40 * IS0 30 * @i

€ (313 30 *WILTHT 20 *OIH F© 2 2

(A) 12 *oigs
(B) 24 *fies
(C) 2-4 *fiex]
(D) 12 =i



18. The Red Data Book which lists the endangered
species is maintained by which of the following
organisation?

(A) UNO
(B) WHO
(C) IUCN
(D) WWF

19. Which of the following is not a feature of
NEP 2020?

(A) 10+2to5+3+3+4

(B) Multiple exit options in UG programmes
(C) Multilingual instruction and learning

(D) 3 Yr PG Programmes

20. Which of the following clearly mentions that
“India is a Union of States”?
(A) Article 1
(B) Preamble
(C) Article 13
(D) Govt. of India Act, 1935

Read the following passage and answer Question
Nos. 21 to 25:

The eye-ball is a little camera. Its smallness is
part of its perfection. A spheroid camera, there are,
not many anatomical organs where exact shape counts
for so much as with the eye. Light which will enter
the eye will traverse a lens placed in the right
position there, will traverse; all this making of the
eye which will see in the light is carried out in the
dark. It is a preparing in darkness for use in light.
The lens required is biconvex and to be shaped truly
enough to focus its pencil of light at the particular
distance of the sheet of photosensitive cells at the
back, the retina. The biconvex lens is made of cells,
like those of the skin but modified to be glass-clear.
It is delicately slung with accurate centring across
the path of light which will in due time, some months
later, enter the eye. In front of it a circular screen
controls, like the iris-stop of a camera or microscope,
the width of the beam and is adjustable, so that in a
poor light more is taken for the image. In microscope,
or photographic camera, this adjustment is made by
the observer working on the instrument. In the eye
this adjustment is automatic, worked by the image
itself!

7-7 00-1

18. (3T TGl 35-@ (Red Data Book) e arenfes
wifefl 2gea nifticg @ 713 Fie Fa0z?
(A) UNO
(B) WHO
(C) TUCN
(D) WWEF

19. J57 @96 NEP 2020-7 (3% 771 2
(A) 1042 5+3+3+4

(B) Fres A «ifs<s 2 fom
(C) IzeiTT Hor @ S
(D) TS 929 Frew@ed Algaw

20. ‘oo wimelE Aera A® (India is a
Union of States) — 153 Rearafea sy @ire @3
TG0 TSI TE AR 2 ?

(A) o= 1
(B) &g

(C) Sm=w 13
(D) SIS FIF 1z, 1935

i Ao oo T @3z 21 (AT 25-99 TFfe

S (9ET 251 GG (RIC! P | 9T FUAOIR B
“Afasjefor eI | S171%fCS spheroid camera 3l (ANETFIFRS
G (G T2 Y MFHIS SR I& A 1,
12 @b (B0 oo AT SFRS eIt STt | SN 72
(BItd fewiere 27, 94w @i A< Bt SR_iES @@ w0
e sifoe 63 AR | BT @2 el afez s o
SN (@ S A egeTy o7 F G SHBED R
2AfSToe 23 | AR AU 2617 2@l THFIE IR
Tl 2T | 5F 7T 12 e e 29 FIACE ©f SETR
@@ e SR sey e WS e 4 =i
R AT 2@ @R aifswfre =31 @R [fife
S (T3 S0 G TS P54 W0l 7% | 5 @3 (wiafe
s THEE SRfee AE 7 W M wiE 7l
APTIRRRE FNCS I | 97 794 ©Is GFH JEFIF Al
TEs RETR IS I | R0 AR A FIGEIE
iris-stop-43 3cel, AT SNEIF SR Tl 20 GIg
NG5 A0S TIPS 2o g7 27 | MBI Iot
A SO TR (GG G2 AGET FIG b TCF ACH
AT ATEDT AN I A, L6 S (BIA
0 elfsmmesis A e R FRfeTei 2@ Al |
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The lens and the screen cut the chamber of the eye
into a front half and a back half, both filled with clear
humour, practically water, kept under a certain
pressure maintaining the eye-balls right shape. The
front chamber is completed by a layer of skin
specialized to be glass-clear and free from
blood-vessels which if present would with their
blood throw shadows within the eye. This living
glass-clear sheet is covered with a layer of
tear-water constantly renewed. This tear-water has
the special chemical power of killing germs which
might inflame the eye. This glass-clear bit of skin
has only one of the fourfold set of skin-senses; its
touch is always ‘pain’, for it should not be touched.
The skin above and below this window grows into
movable flaps, dry outside like ordinary skin, but
moist inside so as to wipe the window clear every
minute or so from any specks of dust, by painting
over it fresh tear-water.

The light sensitive screen at the back is the key
structure. [t registers a continually changing picture.
It receives, takes and records a moving picture life-
long without change of ‘plate’, through every waking
day. It signals its shifting exposures to the brain.

This camera also focuses itself automatically,
according to the distance of the picture interesting it.
It makes its lens ‘stronger’ or ‘weaker’ as required.
This camera also turns itself in the direction of the
view required. It is moreover contrived as though
with forethought of self-preservation. Should danger
threaten, in a moment its skin shutters close,
protecting its transparent window. And the whole
structure, with its prescience and all its efficiency, is
produced by and out of specks of granular slime
arranging themselves as of their own accord in
sheets and layers, an acting seemingly on an agreed
plan. That done, and their organ complete, they
abide by what they have accomplished. They lapse
into relative quietude and change no more. It all
sounds an unskilful overstated tale which challenges
belief. But to faithful observation so it is.

21. How does light enter the eye?
(A) As apencil of light
(B) By traversing the lens of the eye
(C) As aphotosensitive cell
(D) As abiconvex lens

7-8

GITE A @ IR AF YL S GO
BRSSO A R R E LR e IRAC CE R ARIEEACE
TG (@A S (NS AS NGO i I | AN
B T2 FIT N0 BINTER GG SIeeT o1 2T @3k
@fb T T AT | 7T TM @I T0e9 =e] &7 F41
TN, S0 OIF AfSRg 518 2 06 €T | 3 Fog I
IR (SE R GERI G GOR (6 MR (SERCTGE
e G T FE Wee! [ aeieiee el Wize
T, @D (GIHITF TS FACS AT | 8y ©f3 73, €3 FH-71
ST BISTCI SIS 9l 7= B3 A<l 241 3, A
=5 @2 [@@eiel 27, ©i2 Gt i (@ [Kige AR
AT | S ST Soltd IR foo@a prrel vt
GBIl Fel TR SHARR Sl Aaiwel SIS 2ltEs A
% (oot okl | 2w | 97 2fs Aerwa w1
TR S Gield 2IE7 S 22 gt J&
=9 LA T T 2T |

BTSN [ SRR IS 2e1 3 Flotct | @b
Afsfe #ifzfEe afemaits s 35 | @i s s
T Afsiue, Gl Bersiie 2f< ze S forfom S
AMF R AFE AT T MR G061 ZASTLTT
Jfzsem <o |

Y OI2 7, 92 FICR 2 @ FRiarei
SRR ARG TGE AR FE SN | RS
SR @3 T [EA @R TSI FG IR | S,
@G G2 FieE e W G 3@ 1 o, o F
AR FGafers s Sz b oy egg 151
(A | ot iim sewdle fister g sifs i
JF FIACS T 27 | GBI T AT @iaret €
VMR AR 3 ol T 2NN TF 932 SRR
SO IR T /7)o 03 2SI 23 | Fe] T,
e e @ el e WMo A Al oo
I(E BER, GR SNCFFS (BEE AIORRe I69F G
et 2 919, 1 SoifaeaT | aFesics el <o
SRMPT IR SRS 2Ee, Ao ALt @7
0 TS |

21. FSIE AE @I oo 2@ T 2
(A) SR (@A
(B) (BIC4S =191 Sfo@ s
(C) SR ALAW1e] (FRce!
(D) ™FS ETACet



22. Theiris-stop of the eye adapts to the image or to
light—
(A) automatically
(B) by centring
(C) by shifting exposures
(D) by focusing

23. The shape of the eye-ball is maintained by
(A) the retina

(B) the aqueous humour kept at a certain
pressure

(C) the biconvex lens
(D) the transparent skin in the front chamber

24. The word prescience means
(A) instinctual
(B) automatic
(C) natural
(D) foreknowledge

25. Choose the most appropriate description of the
passage from those given below:
(A) A class lecture on biology
(B) A section on the human eye from a
physiology textbook
(C) A note in a medical handbook

(D) An informal discourse on the amazing
organ of sight

Study the diagram below and answer questions
from 26 to 28 :

35
4\ 17
23 3 I:] Artists
22
g O Players
ﬂ Doctors
30

26. How many doctors are neither artists nor players?
(A) 17
(B) 8
©) 4
(D) 22

79 00-1

22. (5ICF iris-stop Afemsl Al WAENE Wo@lfere
I

(A) FHIEFTeIE

(B) (F@IFACIA ML

(C) BTSTS A= e
(D) SRR

23. S (e g IEIR A
(A) @O 7=l

(B) W8 o3 3o il Tl Ss<caid =il
(C) "HS 1K 7l
(D) T4 AP Fvz BT A

24. Prescience 3l wami*od o< za1
(A) ETS
(B) Fasfaw
(C) el

(D) el

25. fwferRie e e Ao A s Wioa
e

(A) GRS Ta7 @it agel
(B) TR AIIJoE (ATF A5 S
(C) oot 77 iR SRz

(D) W*(eTa G SI6LET STHACA DI
NG

o foal® e @R 26 (AT 28 THA AT TG T

35 :
4 17
> NE L] s
q O w@wme
N fBfresrs
30

26. 9G9I G TG TISIF @R 1 FEe 7w
IR (AETRATS e 2
(A) 17
(B) 8
(C) 4
(D) 22
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27. How many players are neither doctors nor artists?
(A) 25
(B) 30
(C) 60
D) 17

28. How many artists are both players and doctors?
(A) 22
(B) 8
<) 7
D) 3

29. A poll is done to estimate the proportion of
employees of an organization who think that they are
actively engaged in their jobs. The poll is based on a
random sample of 400 employees. What is the
conservative margin of error of this poll?

(A) 0-05
(B) 0-04
(C) 025
(D) 0-10

30. Bivraj walks 20 meters north. Then he turns
right and walks 30 meters. Now, he turns right and
walks 35 meters. Then, he turns left and walks 15
meters and then again he turns left and walks 15 meters.
In which direction and how far is he from the original
position?

(A) 45 m, East
(B) 35 m, East
(C) 45 m, West
(D) 35 m, West

31. The discrepancies between the estimate and a
population parameter is known as
(A) Formula Error
(B) Sampling Error
(C) Non-sampling Error
(D) Common Method Bias
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27. AN IO CATERIG (e Fi HiFore 7a «aag
ES F 2
(A) 25
(B) 30
(C) 60
(D) 17

28. N oG RET AEERT T RERICS 93R
oieerme ?
(A) 22
(B) 8
< 7
(D) 3

29. @I @6 FORPT FAF Foo! FEomal A
FS GBI @RI & G0 (S5 (787 2 | G2 (oi6h
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THENE o AW N LI?

(A) 005
(B) 0-04
(C) 025
(D) 0-10

30. fTeare 20 o7 Sews M 250 | wiFeF fofd
T 25 30 FoR | SR fofd SN (ol @2
35 RGR 2I0E | SR ol AR o @3k 15 FoR
oW, oR7E fofi o AN REw ¢ ke
15 5= 250 | GTCwe fof s11a @i e feee= @)
S wwd TS (AT ol 5 Fob! iea fewem 2

(A) 45 fiom, &
(B) 35 f5iow, &
(C) 45 TS5, “if*em
(D) 35 fiBIg, i<

31. @I @0 GATGEE A SER € FA7jETT
G SATRIRIGIER N0 @ I St I=1 T
(A) T @37 A Tl 9ife
(B) ™l 4= A TAPDS @l
(C) TT-mriferk @a4
(D) T (12T A A Amfoore FFolfog



32. In an organisation 40% of the employees are
matriculates, 50% of the remaining employees are
graduates, 50% of the remaining employees are post-
graduates and the remaining 75 are Ph.D holders. How
many employees are graduates?

(A) 300
(B) 75
(C) 150
(D) 225

33. Who called the study of communication
‘Rhetoric’?

(A) Socrates

(B) Karl Marx

(C) Aristotle

(D) Noam Chomsky

34. P,Q,R, S, T, U, Vand W are sitting around a
circle and are facing the centre.

1. Pis second to right of T who is neighbour of R
and V.

2. S is not the neighbour of P.

3. Vis the neighbour of U.

4. Qis not between S and W. W is not between U
and S.

Who of the following are not neighbours?

(A) Rand V
(B) Uand V
(C) Rand P
(D) Qand W

35. Which of the following includes examples of
quantitative variables?
(A) Age, Temperature, Income, Height
(B) Gender, Religion and Ethnic Group

(C) Grade Point Average, Anxiety level,
Reading performance

(D) Both (A) and (C)
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1. P, T-93 O faor 2t a0 @3 T,R 8 V
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2. S, P-43 ARG T (R
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(C) RYR P
(D) QYR W
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36. The average age of 30 students in a class is 15
years. If the age of two teachers of the same age is
included, then the new average age becomes 17 years.
What is the age of either of the teacher?

(A) 44 years
(B) 47 years
(C) 94 years
(D) 54 years

37. There are many countries in the world which
despite high levels of per capita income and GDP
growth / real income, experience high mortality rate,
undernourishment rate, poor literacy and so on. What
is this state called?

(A) Growth with Development
(B) Development

(C) Growth without Development
(D) Development without Growth

38. Which of the following research method is
based on controlled observation?

(A) Historical Research
(B) Philosophical Research
(C) Descriptive Research
(D) Field Experimentation

39. In communication, language is a
(A) Non-verbal code
(B) Symbolic code
(C) Iconic code
(D) Verbal code
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36. @3 FIGT 30 & FGEGH 91C I 2 15 q2 | IW
OB T AT TG TR I (9] 1 T OIRCeT @B
51T T ZCA WG 17 924 | G 2 RaFame 20eiad
T T2

(A) 44 T=7
(B) 47 923
(C) 94 9=
(D) 54 2=
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38. fasfiiis @A ol Aafs fafes o
(controlled observation)-43 €2 fefe = IGRIRSERE
(A) afexf=s sita@dl (Historical Research)
(B) W< sita@el (Philosophical Research)
©) ﬁﬁm It3R9! (Descriptive Research)
(D) ¢ fefes 51ta2el (Field Experimentation)

39. IHCFEF-93 (F(g Ol 2
(A) @3 TH-o[E @
(B) @35 PrrRfer (e
(C) «3fb oEla (e
(D) S e



40. A dealerpaidabike manufacturerRs. 1,35,000 for
a bike. What should be the selling price of the bike, if
after allowing a buyer 10% discount on the selling
price, he made a profit of 8% on his investment?
(A) Rs. 1,60,000
(B) Rs. 1,62,000
(C) Rs. 1,52,500
(D) Rs. 1,50,000

Directions: Question Nos. 41 — 45

In the following Pie Chart, distribution of candidates
who were admitted in MBA and the candidates (out of
those admitted) who passed the examination in different
institutes are given .

Total number of candidates Total number of
admitted = 8550 candidates who passed the
examination = 5700

41. What percentage of candidates passed the
examination from institute T out of the total No. of
candidates admitted from the same institute?

(A) 50%
B) 52:5%
(©) 75%
(D) 80%

42. Which institute has the highest percentage of
candidates passed to the candidates admitted?
A Q
(B) R
(G
D) T
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(A) 50%
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43. What is the ratio of candidates passed to the
candidates admitted from institute P?
(A) 9:11
B) 14:17
(C) 6:11
D) 9:17

44. The number of candidates passed from institute
S and P together exceeds the number of candidates
admitted from institute T and R together by
(A) 228
(B) 279
(©) 399
(D) 407

45. What is the percentage of candidates passed to
the candidates admitted for institutes Q and R taken
together?

(A) 68%
(B) 80%
(C) 74%
(D) 65%

46. The process of learning about our own culture
which is transmitted from one generation to another
generation is known as

(A) Acculturation
(B) Enculturation
(C) Inter-culturation
(D) Assimilation

47. Which of the following are the goals of higher
education in India?

(i) Access

(i) Equity

(iii) Quality and Excellence

(iv) Relevance

(v) Value based education

(vi) Compulsory and free education
(A) (@), (iD), (v), (Vi)
(B) (@), (1), (iiD), (iv), (v)
©) @), (1), (v)
(D) (@), (i), (iii), (iv), (v), (Vi)
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(A) 9:11
(B) 14:17
(C) 6:11
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(A) 228
(B) 279
(C) 399
(D) 407

45. 2AfSHT Q @R R-47 CF(4 (G T© 21T A1 FCAZ
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21 a1t % O ol 2@

(A) 68%
(B) 80%
(C) 74%
(D) 65%

46. @ AE[STS O AGCAR A 20O ATTS! LS
SRR S SRR A 4y e S Ssiewd foverg
Ao T wice A 92 iR Awfer @ A

(A) ST
(B) GBI
(C) THR-FEABIE
(D) Sy

47. TG GFIRNSEN SRS CHFEFIT 51 o775 ?
(i) Toerere!
(i) =R
(iii) QO € XDy
(iv) AriEel
(v) TEncaiafofes M
(vi) FgergEr @ ey fm
(A) (D), (i), (v), (vi)
(B) @), (i), (iii), (iv), (v)
©) (@), (i), (v)
(D) (@), (i), (ii), (iv), (v), (vi)



48. On the monitor of a computer, a pixel is usually
a

(A) Circle
(B) Rhombus
(C) Triangle
(D) Square

49. Which one of the following universities is not
among the first three universities which were established
in 18577

(A) Calcutta
(B) Bombay
(C) Madras
(D) Delhi

50. ‘Cirrus’ refers to
(A) alow cloud
(B) ahigh cloud
(C) arain bearing cloud
(D) a hail bearing cloud
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